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Direction : Add a suitable question tag for the
following sentence in Question No. 1.

1

L-52-1 R

They haven't bought the cakes ?
(1) Hadn't they?

(2) Had they?

(3) Have they?

(4) Haven't they?

Out of the four groups given, select the

group/groups that consist of all correct
opposites :

Group A
beautiful - ugly
fair - unfair
dry - wet

careful - careless

Group B

friendly - unfriendly
remember - forget
able - unable

qualify - disqualify

Group C

active - inactive
vallid - unvallid
leagal - illeagal
happy - sad

Group D

correct - uncorrect
suitable - unsuitable
ambiguous - inambiguous
accept - reject

(1) AandD (2) Cand A
(3) BandC (4) A and B

Direction : In the following Question No. 3 a
sentence has been given in Direct/Indirect
speech. Out of the four given alternatives,
select the one which best expresses the same
sentence in Indirect/Direct speech.

3  The mechanic : "The spare parts will be
available tomorrow".

(1) The mechanic said that the spare
parts would be available the next
day.

(2) The mechanic said that the spare
parts would have been available
tomorrow.

(3) The mechanic said that the spare
parts are going to be available the
next day.

4) The mechanic said that the spare

“4) p
parts would not be available the
next day.

4 Choose the correct verb form and fill in

the blanks:
One of my sisters __ gone to America.
(1) was
(2) have
(3) has
4) is
5  Indians in nonviolence.

(1) believes
(2) is believing
(3) believe

(4) are believed

P.Tlol
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Direction : In the following questions 6 and
7 a sentence has been given in active/passive
voice. Out of the four given alternatives, select
the one. Which best expresses the same

sentence in passive/active voice.

6 The secretary passed on the information.

(1) The information will be passed on

by the secretary.

(2) The information was being passed
on by the secretary.

(3) The information was passed on by
the secretary.

(4) The information was to be passed

on by the secretary.

7 The child has torn to book.

(1) The book was torn by the child.

(2) The book had been torn by the
child.
(3) The book has been torn by the child.
(4) The book was being torn by the
child.
L-52-1 R

Direction : Question No. 8 contains a
paragraph of 6 sentences. The first and the
sixth sentences are given in the beginning and

end and numbered 1 to 6 respectively. The »=

four sentences in the middle are jumbled and
labeled as P, Q, R, S. You must identify the
proper order/arrangement of the sentences and
shade/darken the option that correctly identifies

this sequence.

Rekha aspired to become a doctor.
She was motivated by her love to
help people.

P. Her family was poor and could not
afford to spend on a payment seat.

Q. However she was heart broken
when she lost the seat by a mere

SHIKARAT.COM

one mark.

R. Her relatives advised her to give
up and opt for engineering.
S.  She worked very hard day and night

for the entrance exams.

6. Nevertheless Rekha decided to
persevere. She found it hard to give

up her goal.
(1) SQRP
(2) QSRP
(3) PSQR
(4) SQPR

P.T.O.
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Direction : Question Nos. 9 and 10 are
designed to test your ability to use the right
prefix. Add a prefix so that the word conveys
the meaning given in the brackets. Choose the
most appropriate answer from the alternatives
to complete the word by adding the prefix and
shade/blacken the corresponding circle

accordingly in your Answer Sheet.

9 The Independence history of

India is full of distorted details.

(1) pre-
(2) un-
(3) mid-
(4) past
10 adequate information may lead

to wrong decisions.

(1) under-
2) over-
3) multi-
@) in-
L-52-1_R

Direction : For Question Nos. 11 to 13
underlined idiom or phrase has been used in
the sentence. You have to choose the sentence
which explains the correct meaning of that

and shade/blacken the corresponding circle™

accordingly in your Answer Sheet. o
™

11  He s in a fix whether to buy a mobile or"
-y
aTV. -

(D

He will decide in due time to bring
either of the items.

(2) He is fixed on buying a mobile orfz'i
aTV. e
(3) He has the money to buy either af‘rl‘
mobile or a TV eventually. p
(4) He is undecided about buying a=f
mobile or a TV.
8 )
12 His death is a cold-blooded murder. :
(1) His body is lying in cold blood. )
(2) The police could investigate the:‘)’;
cold condition of his murder. -
(3) His ill got wealth may have led to
an unprovoked murder.
(4) None of the above.

13

¢
The lady officer's maiden speech wasyg,
inspiring to the community.

3119

A
<t

(1) The lady was a bachelor, so her
maiden speech was inspiring. o
(2) The audience were moved by her
first speech. ;’;
(3) The inexperienced maiden's speech
was fresh to hear. =
(4) None of the above. ki
P.T.O.
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Direction : Question Nos. 14 to 16 there are
g‘:sentences which are divided and numbered into
«three parts and one of the parts may contain
(an error. 1dentify the error by (1), (2) or (3)
:ji:given under the parts of the sentences. If there

is no error, mark (4) no error. Shade/blacken

("the corresponding circle in your Answer Sheet.
i

The foreigner quickly realized that /

1

rice is grown / all in India. / No error.

()
- 2 3 4
™
0o
h~
<#15 Indians do not play good cricket /
1
2 on foreign fields /
e 2
O . :
< like the Australians can. / No error.
<
3 4
h
'_.{ .
{16 You cannot pass tests / until you work /
48
0 1 2
<t
A hardly. / No error
3 4
L-52-1 R

Direction : Read the following passage and
answer the questions that follow (Question
Nos. 17 - 20). Your answers to the question
should be based on the passage only.

Passage

Global warming has become a major
problem. The cars we drive release gases into
the air that make it warmer. Forest fires to
clear the land also lead to global warming.
Industries release effluents and poisons into
soil and water. The effects are alarming. The
climate has changed and the weather is hotter.
The level of ocean is rising, because the ice is
melting. Countries are now thinking of ways
to stop global warming. But humanity has not
yet begun reinventing the modes and structures
of progress. This living planet earth is dying.

17 “Alarming” means
(1) threatening (2) frightening
(3) different (4) confusing
18 The major reason for global warming :
(1) vehicular traffic
(2) forest fires
(3) industrial effluents
(4) All of the above
19 The level of ocean is rising because of
(1) Industries (2) Cars
(3) Ice melting (4) Forest fires
20 “reinventing” means

(2) applying
(4) rejecting

(1) remaking

(3) repeating

P.'T. O.
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Direction : For Question Nos. 21 to 23 a word/
phrase is given followed by four options.
Choose the option which explains the correct
meaning of the word/phrase and shade/blacken

the corresponding circle accordingly in your
Answer Sheet.

21 Infallible

(1)
(2) fallacious

incorrigible

(3) without infamy

(4) committing no errors

22 Verbose

(1) Malapropism
(2) Full of verbs
(3) Full of vibes
(4) Too wordy
23 Ecocriticism
(1
(2)

Theory of biome

Critical awareness of man's relation
to nature

(3) Study of conservation and

desertification

(4) All of the above

L-52-1_ R

Direction : Fill in the blanks with appropriate "
prepositions for the given sentences, choosing

from the options given below from Question )

Nos. 24 and 25.

24 The treckers went the limits
set for them.

(1) on

(2) besides
(3) into

(4) beyond

SHIKARAT.COM

The strange scene was captured
the camera.

M
()
3)
@

25

with
by
at

on

26 Fill in the blank with appropriate option

given below:

Sitara was principal of the

college during that period.
(1) a

(2) an

3)

(4) zero article

the

P.T.O.
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Direction : Question Nos. 27 to 29 have an
expression, each of which can be replaced by
a single word. Choose the most appropriate
word from the alternatives and shade/blacken

the corresponding circle in your Answer Sheet.

27 Action violating the sanctity of things

considered religious

(1) Atheism
(2) Sacrilege
(3) Bigotry
(4) Nihilism

28 One who believes in the pre-determined

destiny

(1) Pessimist
(2) Idolater
(3) Fatalist

(4) Cynic

29 A good appreciator of art, food, wine etc.
(1) Gourmet
(2) Connoisseur
(3) Gluttonous
(4) Philanthropist
L-52-1 R

Direction : Question Nos. 30 and 31 are based
on degrees of comparison (positive,
comparative and supetlative). Fill in the blanks
with the most appropriate word / words from
among the alternatives and shade/blacken the
corresponding circle accordingly in your

Answer Sheet.

31 They reached the place as quickly as

(1) feather
(2) pigeons
(3) lightning
(4) soldiers

31 Some Indians speak English

than the native speakers.

(1) sweetly

(2) incoherent
(3) faster

(4) masterfully

P.T.O.
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Direction : Choose the synonyms for the given

underlined words (Question Nos. 32 and 33)

and shade/blacken the correct answer in your

Answer Sheet.

32 The holy man's personality inspires awe.

33

(1) Awkwardness
(2) Reverence
(3) Obstinacy

(4) Distinctness

Can you be so impertinent toward an

elderly woman?

(1) Shouting

(2) Sickly

(3) Rude

(4) Indifferent
L-52-1_R

Direction : Choose the antonym or the most

opposite in ‘meaning to the underlined word

(Question Nos. 34 and 35) and shade/blacken :

the correct answer in your Answer Sheet. {2
=p
e
(®
34 Can I be discourteous to my benefactors? ‘_’_":
O
(1) Ill-behaved o
=3
(2) Polite

N
-
(3) Obedient ‘:’
O
o
(4) Silent <
h
r..1'
i
35 The old man seems too feeble. f:g
<
<

(1) Unable
o
(2) Strong ™
|
™
(3) Active o
.

(4) Unfirm

P.T.O.
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Match the MS Word shortcut keys with
their actions:
Shortcut Key
Ctrl + Shift + L 1.

Action

Apply
bullet points

A.

B. Ctrl +E 2. Center align
the selected text
Increase

font size

C. Ctrl + Shift +> 3.

D. Ctrl + Shift + < 4. Decrease

font size
A-1, B4, C-3, D-2
A-4, B-3, C-2, D-1
(3) A-3, B-2, C-4, D-1
(4) A-1, B-2, C-3, D4
Q0.0%°.JE°E ToEFEdEF denieodt YN
BODENRTRY, BRodR W3AWD.
soabenid
20Se3®
SoCADoEFPRLI)Y
WD
erody, BeBSRT
€369, | o) Rowso’rt
O ® IPRDZHD
038 3B
PRI
238 7By
30D FeBDJHD
A-1, B-4, C-3, D-2
A-4, B-3, C-2, D-1
A-3, B-2, C-4, D-1
A-1, B-2, C-3, D-4

(1
(2)

Zot3®c363° e
A. Ctrl + Shift+L 1.

B. Ctrl+E 2.

C. Ctrl + Shift +> 3.
D. Ctrl + Shift +< 4.

(1
)
3)
(4)

L-52-1 R

13

72

73

Which of the following formulas in MS
Excel can be used to find the n'h largestes,
value in a range?

(1) =LARGE (A1:A10, n)

gl

ot

(2) =MAX (A1:A10, n) 6\5
(3) =RANK (A1:A10, n) :’;
(4) =VLOOKUP (n, Al:A10, 1,
FALSE) .
2ot Beedodd e3pd nh IPey e
BombRobED D0.97°%.HEPIO FIAS oIRB v
RRZRIY, WIRWRITAE? ir
(1) =LARGE (A1:A10, n) o
(2) =MAX (A1:Al0, n)
(3) =RANK (A1:A10, n) o
(4) =VLOOKUP (n, A1:A10, 1,
FALSE) 4
The function returns the =¥

smallest value in a range that meets ¥

multiple criteria, whereas the
function returns the largest value in a

range that meets multiple criteria in MS_,
Excel.

(1) SMALLIFS, LARGEIFS "
(2) MIN, MAX f;
(3) MINIFS, MAXIFS ot
(4) IFMIN, IFMAX

obrs) WG SRtorRIRY
IPTRIS Bedodd w3038 Ty IO
BoBUTIIL, ST 30,97, D4R WG ey
RR3GoaRIRy BT Fedobd @300
2Pl ROPED 2OOTTOIT.
(1) SMALLIFS, LARGEIFS )
(2) MIN, MAX
(3) MINIFS, MAXIFS
(4) IFMIN, IFMAX

P.T.O.
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How do you apply double line spacing

to a paragraph?

(1) Home > Line and Paragraph
Spacing > 2.0

(2) Layout > Line Spacing > 2.0

(3) Design > Line Spacing > 2.0

(4) Insert > Line Spacing > 2.0

TOM N Buwes SRF Beront® ey erd

O3AWRIZeD?

(1) B > Js® D) s9oemem® Aeton®

> 2.0

SeBex® > J® Feron® > 2.0

a3 > i Feror® > 2.0

B°RePE > J° Fevor® > 2.0

(2)
3)
4)

Consider the following statements:
Statement 1 : The "Home" tab in
PowerPoint contains options to insert text
and images.

Statement 2 : The "Insert” tab is used

for adding elements like charts, tables
and pictures.

Which of the following options is correct
regarding the above two statements?
(1) Both Statements are correct

(2) Only Statement 1 is correct

(3) Only Statement 2 is correct

(4) Both Statements are incorrect

39N BeRIRII), JOredD:

Be@d 1: BH0° DODOEFBIDS Bocsd® 392
e35°,, P whes*rd), BedDR rohRIy
2SRRI,

Bedd 2: 'aefe 39208 o) weFenih,
deeginsh DB) BIRPod3® woIndSy
BeORDJITERN WIRGTOHT.

23ed3 TR BePIRYN Dooharkod LRI
odea erabodn TORAS:

(1) oBR BePdRh (1 DD 2) DoboN:S
(2) BeRo Bedd 1 In3 XD

(3) BeRo Bevd 2 Ing XD

(4) odde Bednsh ImNS

L-52-1 R
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In Microsoft PowerPoint, themes can be
found under?

(1) Design tab
(2) Transition tab
(3) Insert tab

(4) Animation tab

;ngagem.;—:';s BR0® HoAWoEFI) PeRPRIRY
— ©dodd doddegoment.

(D
(2)
3)
4

70,00 £39,20°
E30QB° E3e°
BJeE eaaézf

eaeedt E00°

The keyboard shortcut is used
to insert a new comment in the existing
presentation slide?

(1) Ctl+Alt+M
(2) Shift+Alt+M
(3) Ctrl+Shift+M
(4) Shift+M

LSANCN A { i P 5 Ab 8N
0PI BRoLeB® F, B3 2wotd AR
D, 0hIF) BBDIRY, wIReRrd3a.

(1) Cul+Alt+M

(2) Shift+Alt+M

(3) Ctrl+Shift+M

(4) Shift+M

P.T.O.
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Identify which of the following is not
the primary role of an operating system?
(1) Process management

(2) Database management

(3) File management

(4) Memory management

3IAIJINYY cIeJtdh erSBeeson® AR
T@WE mobEBSord RIS,

(1) =8 InSeesshose

(2) Besoeden® RmSerstadoss®

(B) P InJeexteDoss®

(4) DRocd Rm,Bertsos®

Based on following statements, choose

correct answer:

Statement 1 : Styles in MS Word can be

used to ensure consistent formatting

throughout a document.

Statement 2 : Styles can only be applied

to headings and not to regular paragraphs

or other elements.

(1) Both Statements are true

(2) Both Statements are false

(3) Statements 1 is true and Statement
2 is false

(4) Statements 1 is false and Statement

2 is true

3PN BePER? &0 shed, OO LVZTHZY
erody, Sed:

Bedd 1: 20.0%°. 37393 JONII) wotd
BRRSeRmo03,08 JC0ZTTN DIYARLR
5037} WFRRIBITIONTS.

Bedd 2: 3INII, BGon?, (Bede drish) 71 I,
WITVBITIAToIe BRUTI TNROU®
SRRV g B33 90IRYN wWHHOY.
(1) oBde DePind Do,

(2) oBBRe BePdnish 3w

(3) et 1 3D DY) Bevs 2 3P,

(4) Bewd 1 37, D) BePd 2 XO

L-52-1 R
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is used to create personalized

letters for multiple recipients.

(1) Index
(2)
(3)

4)

Table of contents
Mail Merge
Document Map

oy YT Bredroboes*RoTeN

Sobis BRI, READBE, WIRSTIHT.

(1) wods
(2) #deeoef e Bok3oes®
(3) Deef Desfe

(4) woRDos® Bwm

To apply a header or footer that appears
on every page of a Word document, you
use the tab and select

(1) Layout, Header and Footer

(2) Insert, Header and Footer

(3) Design, Page Numbers

(4) Page Layout, Header

B3oleotd See @oHorI Ded eI
BAEC e PO VIR ey

O3, WIDHB DR ), Yo,
SRR

(1) SeBer, S@o® D) Ppeso®

(2) =ee, BB0® DY) Fpeeso®

(3) DR, D3 Roadrish

4) e dNR, BBC®

P.T.O.
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The smallest unit of data in a computer
and is a program
that protects a computer from viruses.
(1) Bit, Antivirus

isa

w0 (2) Byte, Operating System
=  (3) Nibble, Antivirus
(4) Giga Byte, Firmware
&N
oy wow 30RQET°RY Bevosd €308 i Pl
" D3 BpTRRT &N,
‘-\i Brh 30RREITI), FTVFrYod BRI,
< (1) D&, es0e338=°
o (2)  2&°, esBeedon® aR3e
*:: (3) P, yoeslvae
L‘S (4) P 2, FRreSeo®
<
<83 Choose True or False respectively for the
following statements:
*:“ Statement 1: A mouse is an input device.
| g
i Statement 2: RAM is a nonvolatile
™ memory.
O ry
ot (1) True, True (2) True, False
" (3) False, True (4) False, False
83 39N BePRVrt VowodrBod Fidewn XD
h
vl o 3P, eoly Ied.
et
" Be9d -1: IPx° wrdeotd BRTDEF WPIFNT.
i
f; Bedd -2: 73,3° (RAM) ardeord 49iewna
< (nonvolatile ) SHB3eedoinnd.
(1) =, 73D (2) =0, 3P,
3) 3. (@) 33, 33,
L-52-1_R
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Which of the following controls the
degree of multi-programming in the
operating system?

(1)
@
3)
(4)
3SNIINIY oInITo erBTBetsont BRI
B BT, Mo DeIR AoHoBRI3?

SHIKARAT.COM

Multiplexer
Dispatcher
Long term scheduler

Medium-term scheduler

(1)
()
3)

DB
&%, 230°
eor 833 3dRe0®

(4) axpobar tre Sdgeo?

In the Windows operating system, the
maximize button, the minimize button
and the close buttons of any window

appear on?
(1) Title bar (2) Tool bar

(3) Menu bar (4) Status bar

DoBRA® eyBTesdon® ATIFID, odnPde
oA T3t 63°, WAYeS® w3
DY) Er® weRD 39 dorrech3I.

(1) #wef woo® (2) t1Ref woot

() DD ot (4) Leww® w0

P.T.O.
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86 Based on the following statements choose | 87 Which option is used to create a drop

the correct answer: cap?
N
Statement 1 : CC recipients are hidden (1) Home>Drop Cap = i
from other recipients. (2) Insert > Drop Cap ;;"
(e
Statement 2 : BCC recipients are visible (3) Layout > Drop Cap t;
to all recipients. (4) Design > Drop Cap =
(1) Statement 1 is correct, whereas @, 5° F@° TUTW 0Ind Uojadn’eﬁaigm
Statement 2 is incorrect wIReRrLIR? :
(2) Statement 1 is incorrect, whereas (1) Rer > @’ Bz f:
Statement 2 is correct =3
(2) =%Bfe > mH® ww° =t
(3) Both Statement 1 and Statement 2
are correct (3) B > @z e
o
(4) Both Statement 1 and Statement 2 @) age® > ma® Bz’ i
are incorrect ;ﬂ

88 An email signature is typically placed af

3PS BeDEY TRTT hed ROOIRS SIBRY 4i5 of an emaill 2
Sl
ol (1) Beginning

Bedd 1: CC 4033ch w38 4e33eonvon (2) Middle e 3
SBRBRATIZT. (3) End -
"
Be08 2: BCC yeideth aen yeideont (4) None of the above o
<
Receddaerh3thsd. WOl wEdee® BHodw DBDFTN B Jji

PRBITES.
(1) BePd 1 DOIPND TS Bedd 2 3PS oy
(1) soriig
(2) Bevd 1 3P, &3S Bewd 2 ZOOINS v
(2) 25,39 "
o
(3) Bedd 1 D) Bewd 2 TR BOOIPAS (3) elcdh 9 St
;!qi

(4) Bed? 1D Bedd 2 VAR 3TN (4) DedI oInP@e S0

L-52-1_R 17 P.T.O.

WWW.SHIKARAT.COM



89

90

Which network topology is most
susceptible to single point of failure?

(1) Bus (2) Ring

(3) Mesh (4) Star

39AS oInad Towde IoIweo I,
(BecpeoR)odn agedod 03 Dot 83 o3
OB5BR3Y, VB33 ?
(1) w=®

(3) d=*

(2) ®on®
4) =po°

Fill the blank spaces in following
statements with correct words:

Statement 1 : The primary function of a
is to index web pages for search

engines.

Statement 2 : A is a software

application used to access and view web

pages.

(1) Web Crawler, Web Browser

(2) Web Browser, Web Crawler

(3) Boot Loader, Web Crawler

(4) Operating System, Web Browser

83 IFNST BePINRTII, RO0LRE HHRLRoRT e

INIIY P8 B,

BePd 1: S 20000 BN
Bo0dEBorT, RBes’e VORI LN e
DRI, erseTtICIPA RO

Bedd 2: 83 303908 L&dedn®
), 30 Pend Iecden DD
0IERYED WIS,

(1) B* o, Hw° WK

(2) Bw® wox0e, S B OO

(3) 2wnk® doedoe, Suf B0

(4) erDeeson® rFRF, Bwf 2PRO®

L-52-1 R
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93

address changes automatically
and is assigned by a DHCP server.
(1) Static IP
(2) Dynamic IP
(3) MAC
(4) Both Static anhd Dynamic IP
- AVITR) %,030023293 TR
2303 $Hd) ardh DHCP 28303 Suewd
QRE BROTNT.
1
()
(3
4)

R, 5435° 2& (IP)

B8 0

MAC &z

), L35 DD BPeas® nanddrde

is used for accessing web-based
email services whereas is used
to send emails to a mail server.
(1) FTP, IMAP (2) DNS, FTP
(3) NTP, IMAP (4) HTTP, SMTP
), 3P D3 wedee® TeSRIRY
Sdobe wIReoBET, O3, wod
et IIeoer? QBT NIZY 3BT
IR,
(1) FTP, IMAP (2) DNS, FTP
(3) NTP, IMAP (4) HTTP, SMTP

Which of the following techniques is

used to disguise the sender's identity in
an email?

(1) Sniffing (2) Spying

(3) Spoofing  (4) Decrypting

8 39N odns 03[y wowd Wheer3Y
LLser S Na) Ssod THhIIFY Dvdeeden wIDIR.
(1) &{on® 2) A jovor®

(3) RR@or® 4) BYHon®

P.T.O.
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Which of the following is the correct
sequence of the computer's data
processing cycle?

(1) Input, Output, Processing, Storage
(2) Input, Processing, Output, Storage
(3) Processing, Input, Output, Storage
(4) Storage, Input, Processing, Output,
83 IWASINYY 30Be30°3 ek TRNONE
3B BOoeTd edd odeIwHh?

(1) =a"De, Bes*Des®, sodton®, Rpedees®
(2) a*De®, TRvON®, Ber e, Apeden®
() =Rron®, A, BePd®, Apeders®
(4) Apedesse, axRes®, TRRONE, Besthes

Select the correct set of Input Devices
when A, B, C, D are the given sets:

A. Keyboard, Scanner, Speaker,
Joystick

B. Joystick, Touchscreen, Mouse,
Microphone,

C. Mouse, Scanner, Light Pen, Web
Camera

D. Keyboard, Plotter, Monitor, Speaker

(1) A, B 2) ByzE

3) CD 4) A,D

A, B, C, D Recandxd) dedwon aa’mes®
BEerie BooIRT ek oIPFHED?
A, 3eleer's, &, S0°, Aed0°, bR
B.  emobfys, esesth «f J0z°,

BAETORE oy
C. P=°, me, ,[0°, ¥ Ba®, o mboe
D. sceloerde, @ptsv®, RPREI0T, {yedo®

A, B () B,C
(3) C, D @) A, D
L-52-1 R
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96 Based on the following statements,

choose the correct answer:

Statement 1 : A compiler translates high-
level language code into machine code.

Statement 2 : An interpreter translates
high-level language code line by line.

1)
()
3)
)

Only Statement 1 is true
Only Statement 2 is true

Both Statements 1 and 2 are true

2 is true

3 39AT Beodnd emEd Hed BooIRT
ev3TEY eob, BwB.

Bedd 1: 2wotd BoFoo®, PuF3 DT weme
Rode33JY,  0dPo33 yeme Nodesd
ORI,

BePd 2: od BOLITIETE, NVFI ed

PR Rode3TT TOED TGN BRI,
(1) 3eSe Bewd -1 30
(2) 2R BePd -2 2
(3) BePd-1 D) Bewd -2 VR BDOIPAS

(4) Bevd -1 g Bedd -2 oTRR RODY

P.T.O.
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97 Which functions in MS Excel searches
for a value in the first row of a table and
returns a value in the same column from

M a specified row?

' (1) VLOOKUP (2) HLOOKUP

(3) INDEX  (4) MATCH

(te

<3 20.9%5°.2FPIYI 03I FoDER) womd

i 239 VB O word BPeT,A
BDIW DY) wotd IVEF TAVoT e

T 20039 @ wowh 2P Hoadrdd?

:; (1) VLOOKUP (2) HLOOKUP

w (3 INDEX (4) MATCH

{f

@ -

98 Pivot Tables and Pivot Charts is used in

MS Excel for and
:: (1) Filtering data; sorting data
i (2) Creating data entry forms;
f":‘ automating data entry
;}f (3) Creating dashboards; managing
=¥ large data sets

(4) Summarizing data; visualizing
o summarized data
vi D RPN 20.0%°. I
o oSpes Beorish Bi3) 2dpck® mErERIRy
b w9RH3R?
<t
=t (1) B33 3ecldd; Beo3 donBs

(2) T=908 BScdE SRR Fw;
o 30b0ed3 Bzod Jiseds
l';i (3) wmEtlecErend B ; QB B3
O Ao3ne DR3BS
T (4) d=08 woeodesdm; wOR0BeRBROT

B30303 73, B,e38ert pYDFH
L-52-1_R
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TCP is a
protocol.

protocol, UDP is a

(1)

Connectionless, Connection
oriented

(2)

Connection oriented, Connection
oriented

3)

Connection oriented,
Connectionless

4)
TCP odvn 2.0t
UDP oin 200t
(D
)
3
4)

Connectionless, Connectionless
a?&gaasadmhrs.

33230=eNa.
RoDtE T&HI308, RoRBE B30T
ROBIEROINT, ROBBE RSP Ie5oT
RoBIEROITT, ROBIE THI3e0T
RODIE VL30T, RoDIE VD30T

The process of breaking down data into
smaller packets for transmission over a
network is called:

e))

)

3

Q)

%00 RoTBEW R TImA BzosB3Y

g IRV dondDS 3,3 00dIJY
Q06 3BaIn3.

Segmentation
Encapsulation
Multiplexing
Framing

(1
(2)
3)
4)

QONBRDJYTDH

RT3 ARDFHD
WRDFRRYRDJD
BRI

P.T.O.
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